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Atomic Energy Central Schoool No.4 Rawatbhata  
Multiple Choice Questions Test ( April May 2019-20) 

MM: 100                   Class VI (Maths, Science, Social Science)                       Time 90 
Minutes 1 Make the smallest 4 digit number using 0,1,2,3 digits only once  

  A) 0123 B) 1023 C)  1230 D)  1032 

2  Make the greatest four digit number by using any one digit twice by 3,8,7 

  A)  3387 
 

B)  8378 C)  8873 D
) 

 8773 

3  Make the smallest four digit number by using any one digit twice by 0,4,9 

  A)   0049 B)  4009 C)  0449 D)   4049 

4  Make the greatest and the smallest four digit number using any four digits number with digit 5 always at 
thousand place 

  A)  5986 , 5012  
 

B)  5987,5012 C)  5999, 5000  D)   5789,5120 

5  Correct ascending order of 847,9754,8320, 571 
 

  A)  (a)571,8320,847,97
54  

B)  (b)571,847,8320,9
754  

C)  (c)9754,847,832
0,571 

D)  (d) 
9754,8320,847,571 

6  Correct descending order of 5000,7500,85400,7861is 

  A)  (a) 
5000,7500,85400,78
61 
 

B)  (b)85400,7500,786
1,5000  

C)  (c)85400,7861,7
500,5000  

D)  (d) 
7861,7500,7861,50 

7  (i)Ascending order means arrangement from the smallest to the greatest 
(ii) Ascending order means arrangement from the greatest to the smallest 
(iii) Descending order means arrangement from the greatest to the smallest 
(iv) Descending order means arrangement from the smallest to the greatest 

  A)   All statements are 
true  

B)  All statements are 
false  

C) Only statements 
(i) & (iii) are true  

D)  Only statements (ii) 
& (iv) are true 

8  When one is added to the greatest four digit number what is the result? 

  A)  Greatest 5 digit 
number  

B)  Smallest 5 digit 
number  

C)  Greatest 4 digit 
number  

D)  Smallest 4 digit 
number 

9  Which is greatest and smallest 4 digit number 

  A)  10000,9999  
 

B)  1000,99999  C)  9999,1000 D)  9999,10000 

10  When 1 is subtracted from smallest 5 digit number what is the result? 
 

  A)  Smallest 4 digit 
number 
 

B)   Greatest 4 digit 
number 
 

C)  Greatest 5 digit 
number  

D)  Smallest 5 digit 
number 

11  Expand the number 500428 

  A)  Five crore four 
hundred thirty eight 
 

B)  fifty lakh four 
hundred twenty 
eight  

C)  five lakh forty 
hundred twenty 
eight  

D)  five lakh four 
hundred eight. 

12  If we add 1 more to the greatest 6 digit number we get 

  A)  a) ten lakh  B)  (b) one lakh  C)  (c) ten lakh one  D)  (d) one lakh one 

13  The smallest 8 digit number is called 
 

  A)  one lakh  B) one crore  C)  ten lakh D)  ten crore 
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14  One crore is similar to 

  A)  hundred thousand  
 

B)  100 lakhs  
 

C)  10 hundreds  
 

D)  1000 hundreds 
 

15  Write the numeral for the number Nine crore five lakh fourty one 

  A)  9,50,00,041 
 

B)  9,05,00,041 C)  9,05,041  D)  9,500,041 

16  1 million is equal to how many lakhs 

  A)  1  B)  10 C)  100  D)  1000 

17  Insert, commas suitably according to Indian system of numeration in 98432701 

  A)  9,84,32,701 B)  984,327,01 C)  984,32,70,1 D)  98,432,701 

18  Insert, commas suitably according to International system of numeration in 99985102 

  A)  9,99,85,102 
 

B)  999,851,02 C)  99,985,102  D)  999,85,102 

19  How many centimeters make a meter 

  A)  1 B)  10 C)  100  D)  1000 

20  How many millimeter make one kilometer. 

  A)  1000  
 

B)  10,000 C)  100,000  D)  10,00,000 

21  A box contains 500000 medicine tablets each winging 10 mg. what is the total weight of all  
the tablets in the box in kilograms 
 

  A)  5,00,000 kg 
 

B)  50,000 kg C)  5kg  D)  500kg 

22  What is the difference between the greatest and the least number that can be written using the digits 6, 2,7,4,3, 
each only once 

  A)  50000  
 

B)  52965  C)  52865 D)  51965 

23  Population of sundernagar was 235471 in the year 1991. In the year 2001 it was found to  
be increased by 72598. What was the population of the city 2001 

  A)  308069 B)  309429 C)  30428 D) 30328 

24 The town news paper is published everyday . One copy has 12 pages . Every day 11980  
copies are printed. How many total pages are printed everyday 
 

  A)  153760 B)  143760 C)  163760  D) 143660 

25  In a basket there are two thousand kg apples , 340 kg oranges, and 20 kg grapes, what is  
the total weight of fruits? 

  A)  2840  B)  2850 C)  2870  
 

D)  2360 

26  What must be subtracted from 11010101 to get 2635967 

  A) 934134  
 

B) 7383414 C)  8374134  D)  937414 

27  The difference between the face value and place value of 4 in 2416 is 

  A)  404 B) 396 C) 3000 D)  2996 

28  The symbol M in roman numeral stands for: 

  A)  100  B)  500  C) 1000 D)  50 

29  Which of the following is meaning less. 

  A)  XIII 
 

B)  XIX  C)  XVV D)  XL 
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30  For 500 which symbol is used in Roman system 

  A)  L B)  C  C)  M  D)  D 

31  In the international system of numeration we write one billion for  

  A)  1 crore  B) 10 cror C)  100 crore D)  1000 crore 

32  Estimation of the quotient 86÷ 9 to nearest 10 

  A)  90 B)  10  C)  80  D)  none of these 

33  When 1787 is rounded off to nearest tens , we get  

  A)  1790 B)  1780  C) 1700 D)  1800 

34  Estimate 734+998 by rounding off the numbers to nearest tens 

  A)  1730 B)  1740 C)  1750  D)  1760 

35 Fish curry & rice this food is likely to be eaten by the people in 

  A) Rajasthan B) Coastal area C) Delhi D) None of these 

36 The food eaten by an individual in a day is called  

  A) steroids B) Diet C) Medicine D) Supplements 

37  Cockroach is a / an 

  A) Herbivore B) Carnivore C) Omnivore D) Scavenger 

38 Sprouting involves- 

  A) Soaking B) Draining water 
from soaked seeds 

C) Leaving soaked 
seeds till they 
germinate 

D) All of these 

39 Which of the following is not an animal product? 

  A) Butter B) Cheese C) Cottage cheese D) Tofu 

40 Carrot and ______________are roots.  

  A) Turnip B) Onion C) Potato D) Ginger 

41 Edible parts of pumpkin are 

  A) Fruit B) Flower C) Stem D) Both (a) & (b) 

42 Which of the following is not an aerial part of a plant? 

  A) Leaves B) Stem C) Flower D) Roots 

43  Which of the following is an omnivore? 

  A) Humming bird B) Eagle C) cow D) elephant 

44 The common food consumed by a butterfly is 

  A) Honey B) Blood C) Fruit sap D) Flower juice 

45 Starch & Sugars are the two different forms of 

  A) Proteins B) Roughage C) Vitamins D) Carbohydrates 

46 The Color of copper  sulphate solution and caustic soda solution are 

  A) White & blue B)  Blue & colorless C) Colorless & blue D) Blue & pink 

47 ___________ is known as the indicator of starch 

  A) Copper Sulphate B) Caustic Soda C) Iodine solution D) Iron 

48 The food component which provide more energy than carbohydrates is 
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  A) Vitamins B) Proteins C) Fats D) Minerals 

49 Which of the following is not true about Vit-D? 

  A) Our body prepare it 
in presence of 
Sunlight 

B)  Helps in 
absorption of iron 
from food 

C) Keep our bones 
healthy 

D) None of these 

50 The food component which help in the movement of undigested food in large intestine is 

  A) Carbohydrates     B) Roughage C) Fats D) Proteins 

51 When we peel a potato our hands become wet. It shows that potato 

  A) Is Spoiled B) Contain water C) Rich source of 
starch 

D) None of these 

52 Vegetables & fruit should not be washed after cutting & peeling because it will  

  A) Make them 
poisonous 

B) Lead to wastage of 
nutrients 

C)  Make them 
tasteless 

D) None of these 

53 If a person does not get enough proteins in his/her diet for a long period of time then, he/she is likely to have 

  A) Discoloration of hair B) Bleeding gums C) Soft bones D) Weakness 

54 The vitamin which gets easily destroyed by heat during cooking 

  A) Vit-A B) Vit-C C) Vit-B D) Vit-K 

55 Which of the following is not a source of phosphorous? 

  A) Milk  B) Banana C) apple D) Fish 

56 We should eat variety of foods  because 

  A) It keep us healthy B) To have different 
taste 

C) It gives all 
nutrients to body 

D) Both (a) & (c) 

57 Which  of the following food component cannot be digested by our body? 

  A) Roughage B) Carbohydrates C) Fats D) Proteins 

58  Jaggery is a rich source of 

  A)  carbohydrate B)  iron C)  Vit-c D)  Both A & B 

59  Which of the following plant has more than one edible parts? 

  A)  tomato B)  Lady finger C)  ginger D)  Musk melon 

60  Which of the following is called high energy food? 

  A)  proteins B)  fats C)  carbohydrates D)  minerals 

61  ---------- is essential for forming hemoglobin in blood. 

  A)  calcium B)  iodine C)  iron D)  copper 

62  Our hair and nails contain 

  A)  protein B)  calcium C)  chlorine D)  phosphorus 

63  How many vitamins are there in vitamin B-complex? 

  A)  6 B)  5 C)  8 D)  4 

64  Which of the following is not correct about deficiency diseases? 

  A)  They are caused by 
germs 

B)  Can be prevented 
by taking balanced 
diet 

C)  Caused due to 
lack of nutrients 
in food 

D)  None of these 

65  The part of a banana not used as a food is 

  A)  flower B)  fruit C)  stem D)  root 
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66  What are the ingredients for preparing chapatti? 

  A)  Atta only B)  Water only C)  Both atta and 
water 

D)  None of these 

67  Materials required for preparing a food item are called 

  A)  ingredients B)  nutrients C)  nourishment D)  None of these 

68  The science of studying the remains of the past is called--------------------. 
 

  A) Archaeology B Scientology c Psychology d Zoology 

69 ------------ are writings on hard surfaces such as stones or metals. 

  A) Scripts  B engravings C Inscriptions D Manuscripts 

70 One who studies the past is known as a ------------. 

  A) Psychologist B historian C Botanist d Sociologist 

71 Understanding a code or ancient writing is known as -----------------,. 

  A) Excavation b Archaeology c Decipherment d  Calligraphy 

72 The beginning of agriculture is dated back to --------------------. 

  A) 4000yearsago b 5000years ago C 7000years ago D  8000years ago 

73 ---------------- are smaller rivers that flow into a larger river. 

  A) Tributaries B   Ponds C Valley D None of these 

74 ----------------------. Are usually written on palm leaves. 

  A) Inscriptions B Manuscripts C Book D Scripts 

75 Ordinary men and women were---------------------. 
  A) Hunters b Gatherers c Fishing folk d All of these 

76 A LONG THE BANKS OF ------------river, people have lived for thousands of years. 

  A) Tapio b Narmada c Krishna d Kaveri 

77 Which of these animals was first reared by humans? 

  A) Sheep b Cattle c Goat D  All of these 

78 The planet known as the earth twin is ---------------. 

  A) Jupiter b Saturn  c Venus D None of these 

79 Which is the third nearest planet to the sun? 

  A) Venus b Earth c Mercury  None of these 

80 All the planets move around the sun in a ---------. 

  A) Circular path b Rectangular path c Elongated path  All of these 

81 The pole star indicates the direction to the. 

  A) South B  North C  East  None of these 

82 Asteroids are fond between the orbits of ----------------.  

  A) Jupiter B Mars and Jupiter c Earth  None of these 

83 India is a country which is full of --------------------. 

  A) Diversity b Violence c Discrimination D  Equality  

84 Which of these is celebrated in India? 
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  A) Diwali b eid c H0li D All of these 

85 Ladakh is also  known as ------------. 

  A) Tibet b India C  China d Japan 

86 Who composed our National song? 

  A) Bankim Chandra 
chatterjee 

B  Rabindranath 
tagore 

c Jawaharlal Nehru d Mahatma Gandhi 

87 Which of these books was written by Jawaharlal Nehru? 

  A) Discovery of Delhi b Discovery of India c Unity in diversity D  None of these 

88 Kerala is a state in the ---------- part of India. 

  (A)  North -East b North- west C  South -west D  South -west 

89 The ---------- system is one example of inequality in India. 

   (A
) 

Class b caste c vama d All of these 

90 Chapatti, rice and dal is the main food of --------- India. 

   (A
) 

North b South c East d West 

91 The National Anthem was first sung in ------------- at the Calcutta session of the Indian National congress. 

   (A
) 

1908 b 1909 c 1910 d 1911 

92 On -------------- July 1947 the national flag was adopted by the constitutional Assembly. 

  ( A) 18th b 20th c 22th d 24th 

93 Why was wood used in the earlier times? 

  (A) As firewood b To make spears 
and arrows 

c To make huts and 
tools 

d All of these 

94 In which period were ostriches found in India 

  a Vedic b Paleolithic c Iron d Neolithic 

95 Auroch was an earlier from of ------------. 

  A Dog b Goat c pig d cattle 

96 Tools in hunsgi were mostly made of ------------. 

  a Iron b Bones c Lime stone d Silver 

97 Early people painted on the ---------------- of caves. 

  a Roofs b Walls c Floors d None of these 

98 The Neolithic age began about ------------- years ago. 

  A  8,000 b 6,000 c 10,000 d 4,000 

99 The Mesolithic period was between-----------------. Years ago. 

  A  12000-10,000 b 10,000-8,000 c 8,000-6,000 d 8,000-10,000 

100 --------------- Site was a place where people made tools. 

  A  inscription b habitation c place d factory 

  

 

------------------------------- 
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Answer Key 
Class VI  

MCQ Test (April-May) 
1 2 3 4 5 6 7 8 9 10 

B C B B B C C B C B 

11 12 13 14 15 16 17 18 19 20 

B A B B B B A C C D 

21 22 23 24 25 26 27 28 29 30 

C B A B D C B C C D 

31 32 33 34 35 36 37 38 39 40 

C B A A B B C D D A 

41 42 43 44 45 46 47 48 49 50 

D D A D D B C C B B 

51 52 53 54 55 56 57 58 59 60 

B B A B C C A B D B 

61 62 63 64 65 66 67 68 69 70 

C A C A D C A A C B 

71 72 73 74 75 76 77 78 79 80 

C D A B D B D A B C 

81 82 83 84 85 86 87 88 89 90 

B B A D A A A C A A 

91 92 93 94 95 96 97 98 99 100 

C D D B D C B C A D 
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